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®3SK182 B3 | Vos(V) 20| loss(mA)| 100 20.00| Vps=15V, Vo1s=0, Vo=V | R —7% :El
FBR : UHF TV ¥ = —F SRR, UHF | Vos(V)% 8| iYisi(mS)| 7.00 Vozs=4V, 1p=TnA, f=1kliz
Al EER Ip(mA) 50| Ciss(pF) 5.00| Veos=4V, lp=TmA, f=1MHz Gl e G2
BE:A/4 BEAS A 7, Pch(mk) 150 Crss(pF) 0.02 Vozs=4V, | p=TmA, f=1Mliz s L
Tch(°C) 125| PG(dB) 10. 00 Voes=4V, [ p=TmA, 900MHz
61,628 b, NF (dB) 6.00| Voos=4V, 1p=Tma, 900MHz
@®3SK186 B3I | Vos(V) 12} Ipss(mA) 4.00| Vps=6V, Vo15=0, Veoe=8V | FoRv—72 :FI
R : UBF TV ¥ 2 —F E/EIEERA. Vos(V)¥ 10} [Yisl(mS)| 15.00 Voos=3V, [p=10mA, f=1kHz
CATV 28— 2% st IF Ao {p(mA) 35| Ciss(pF) 1.70|  2.20] Voos=3V, Ip=10ma, f=1MHz G1 = ks G2
#E:A/4 BIFESA T, Peh(m¥) 150 Crss(pF) 0.02)  0.03] Vgos=3V, [p=10m4, f=IMHz s o L
Tch(°C) 125| PG(dB) 16.00| 19.00 Vo25=3V, 1p=10mA, 900Miz
*G1,G2& b, + NF (dB) 3.00|  4.50| Voes=3V, {p=10mA, 00MHz
®35K188 B3 | Vos(V) 22| Ipss(md)| 4.00 32.00| Vps=15V, V61520, Voos=4V | FR=e—7 :HI
PO« VHF FEBsEee VIF TV F | Vos(V)* 8| IVisl(mS)| 10.00 Voos=4V, [p=10mA, f=1kHz
2 —FESRABEE BE. 15(m4) 35| Ciss(pF) 3.30 Vozs=4V, [ p=10mA, f=1MHz G1 = o G2
Pch(m¥) 150| Crss(pF) 0.03 Veos=4Y, 1p=10m4, =1MHz sel L)
Teh(°C) 125} PG(dB) 18.00 Voos=4V, [p=10mA, 200MHz
61,628 b, & NF(dB) 3. 20| Vozs=4V, | p=10ma, 200MHz
@®3SK193 BT | Vos(V) 15 lpss(md)| 1.00 11.00| Vps=10V, Vo150, Voas=4V | lpss(X43---8ZP: o 6
I A KNV FF 2 —FZEEHE | Vos(V)# 8] IYssl(mS)| 12.00 30.00| |p=10mA, Voos=4V, 1kHz, * | 1~10ma, 32Q:5
Ao VHF/UHF HEfEMEE | [o(nd) 30{ Ciss(pF)| 1.80 3.00| Vois=Voos=-5V, IMiz, * ~11mA
o Pp(m¥) 150| Crss(pF) 0.02 Vo1s=Voos=-5V, IMiz, ¥ *Vps=10V al
BE  BEERNE V. BAFNEHK | Tch(°C) 150 PG(dB) 13.00 18.00| Vps=8V, Ip=8mA, Voos=3VH | #f=490~510MHz R s
&\, G1,62& %, £ | NF(dB) 4.50| Vos=8V, [p=8mA, Voos=3V4 | (Sweep)
@®3SK194 B3z | Yos(¥) 15 Ipss(md) 10. 00| Vps=6V, Vo1s=0, Veps=8V | Fonv—7 : 1Y
PR : VEF/URF TV F = —F SREHIEE | Vos(V* 10| [Yesl(mS)| 17.00 Vos=3V, [p=10m4, f=1MHz
o Io(m4) 35| PG1(dB) | 27.00| 30.00 Voos=3V, [ p=10mA, 200MHz Gl = k= G2
BE: A2 FEFESA T, Pch(ni) 150| NF1(dB) 1.00]  2.50{ Vees=3V, 1p=10m4, 200MHz s e Lo
Teh(°C) 125| PG2(dB) | 12.00{ 15.00 Voos=3V, [p=10mA, 900MHz
$1.62& %, + NF2(dB) 3.00]  4.50] Vo2s=3V, [p=10m4, 900MHz




